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Number series Questions for Bank Exams.   

Number series Quiz 4 
Directions: Find the missing element in the given series: 

1.  379     390     412     445     ?     544 

A. 462   B. 511   C. 538   D. 489   E. 504 
 
 

2.   25     29      56     72     ?     233  

A. 124   B. 197   C. 97   D. 112   E. 202 
 
 

3.  8     72     576     4032     24192     ? 

A. 110960  B. 140250  C. 90624  D. 120960  E. 98248 
 
 

4.  121     61     31     16     ?     4.75 

A. 8   B. 8.5   C. 9.5   D. 7.2   E. 8.6 
 
 

5.  7     27     106     ?     1680     6715 

A. 420   B. 421   C. 427   D. 424   E. 411 
 
 

6.  9    17    65    385    3073  ? 

A. 40704  B. 73251  C. 65506  D. 38521  E. 30721 
 
 

7.  25      241      584      1096      1825      ? 

A. 2625  B. 2525  C. 2725  D. 2825  E. 2025 
 
 

8.  50      25     37.5      93.75      328.125      ? 

A. 1656.6525  B. 1476.5625  C. 1576.6225  D. 2025.5625  E. None of these 
 
 

9.  468      516      984      1500     2484      ? 

A. 3984  B. 4884  C. 2784  D. 2824  E. 3874 

10. 11      30      87      258      771      ?  

A. 2610  B. 2450  C. 2310  D. 2730  E. 2510 



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

D B D B B E D B A C 

 Explanations: 

1.  
Series Pattern    Given Series   

379 379   
379 + 11 = 390 390   
390 + 22 = 412 412   
412 + 33 = 445 445   

445 + 44 = 489 489 ✓ 

489 + 55 = 544 544   
 
Hence, option (D) is correct. 
. 
 

2.   
Series Pattern    Given Series   

25 25   
25 + 22 = 29 29   
29 + 33 = 56 56   
56 + 42 = 72 72   

72 + 53 = 197 197 ✓ 

197 + 62 = 233 233 
 
  

Hence, option (B) is correct.  
 
 

3.   

Series Pattern  Given Series   
8 8   

8 × 9 = 72 72   
72 × 8 = 576 576   

576 × 7 = 4032 4032   
4032 × 6 = 24192 24192   

24192 × 5 = 120960 120960 ✓ 
 
Hence, option D is correct. 

  
 
 
 
 
 



 

 

4.  

Series Pattern  Given Series   
121 121   

121 + 1 ÷ 2 = 61 61   
61 + 1 ÷ 2 = 31 31   
31 + 1 ÷ 2 = 16 16   

16 + 1 ÷ 2 = 8.5 8.5 ✓ 

8.5 + 1 ÷ 2 = 4.75 4.75   
 

Hence, option B is correct. 

 

 

5.  

Series Pattern  Given Series   
7 7   

7 × 4 – 1 = 27  27   
27 × 4 – 2 = 106 106   

106 × 4 – 3 = 421 421 ✓ 
421 × 4 – 4 = 1680 1680   

1680 × 4 – 5 = 6715 6715   
 

Hence, option B is correct. 
  
 
6.   

Series Pattern  Given Series   
9 9   

9 × 2 – 1 = 17 17   
17 × 4 – 3 = 65 65   

65 × 6 – 5 = 385 385   
385 × 8 – 7 = 3073 3073   

3073 × 10 – 9 = 30721 30721 ✓ 
 

Hence, option E is correct. 
  
 
7.  

Series Pattern  Given Series   
25 25   

25 + 63 = 241 241   
241 + 73 = 584 584   

584 + 83 = 1096 1096   
1096 + 93 = 1825 1825   

1825 + 103 = 2825 2825 ✓ 
 

Hence, option D is correct. 



 

 

8.  

Series Pattern       Given Series   
50 50   

50 × 0.5 = 25 25   
25 × 1.5 = 37.5 37.5   

37.5 × 2.5 = 93.75 93.75   
93.75 × 3.5 = 328.125 328.125   

328.125 × 4.5 = 1476.5625 1476.5625 ✓ 
 

Hence, option B is correct. 

 

 

9.  

Series Pattern  Given Series   
468 468   
516 516   

516 + 468 = 984 984   
984 + 516 = 1500 1500   

1500 + 984 = 2484 2484   

2484 + 1500 = 3984 3984 ✓ 

 

Hence, option A is correct.  

 
 
10.  

Series Pattern   Given Series   
11 11   

11 × 3 – 3 = 30 30   
30 × 3 – 3 = 87 87   

87 × 3 – 3 = 258 258   
258 × 3 – 3 = 771 771   

771 × 3 – 3 = 2310 2310 ✓ 
 
Hence, option C is correct. 
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